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 Grafana + Go + Mongodb 



1. 1  
2.  
3.  
4. CPU 700+
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Key-Value {_id:1688,key:”command”,value:100,t:1497794541}

{_id:1688,key:”insert”,value:100,t:1497794541}

{_id:1688,key:”update”,value:200,t:1497794541}

{_id:1688,key:”cache_size”,value:132100,t:1497794541}

{_id:1688,key:”transaction”,value:128,t:1497794541}

 
    1.  

 
    1.  
    2. collection document  
    3.  
    



 
    1. document  

 
    1.  
    2. document  
    3. 

{ 
    _id:Object(123), 
     hid:1688, 
  time:1497794541 
     inf:{ 
        insert:100, 
        update:200, 
        cache_size:134200, 
        transaction:128, 
        … 
   } 
} 
{ 
    _id:Object(124), 
     hid:1688, 
  time:1497794542 
     inf:{ 
        insert:100, 
        update:200, 
        cache_size:134200, 
        transaction:128, 
        … 
   } 
}



 
    1.  
   2. document  
   3.  

 
    1.  
    

{ 
    _id:Object(123), 
     hid:1688, 
  t:1497794541 
     inf:{ 
        insert:[100,105,201,230,…], 
        update:[200,281,352,430,…], 
        
cache_size:[134200,134200,134200,13
4200,…] 
        transaction:[128,128,128,128,…] 
        … 
        pages evicted because they 
exceeded the in-memory maximum:
[0,0,0,…] 
   } 
}

Shard key {hid:1,t:1} 
TTL {t:1}
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{ 
    _id:Object(123), 
     hid:1688, 
  t:1497794541 
     inf:{ 
        insert:[100,105,201,230,…], 
        update:[200,281,352,430,…], 
        
cache_size:[134200,134200,134200,134200,
…] 
        transaction:[128,128,128,128,…] 
        … 
        pages evicted because they exceeded 
the in-memory maximum:[0,0,0,…] 
   } 
}

{ 
    insert:”k1”, 
    update:”k2”, 
    cache_size:”k3”, 
    trasaction:”k4”, 
    … 
    pages evicted because they 
exceeded the in-memory maximum:”k5” 
}

{ 
    _id:Object(123), 
     hid:1688, 
  t:1497794541 
     inf:{ 
        k1:[100,105,201,230,…], 
        k2:[200,281,352,430,…], 
        k3:[134200,134200,134200,134200,…] 
       k4:[128,128,128,128,…] 
        … 
       k5:[0,0,0,…] 
   } 
}



: 
    1 491k 
     491 * 60 * 24 = 707040k ≈ 690M 
    690 * 30 = 20700M ≈ 20G 

1w  
    20G * 10000 ≈ 195.3125T

1w IO  
    167 * 491k  = 81997k ≈ 81M



1.   
        transaction:[128,128,128…] 

2.   bson  
       :[1,2,3] bson 0:1,1:2,2:3 

3. int64 int32  

4.



flag Vcount V0 V1 – V0 …

flag 1bit
0

1

Flag(bit) Value length Value range Total length(bit)
0 0 [0,0] 1
10 9 [-2^8+1,2^8-1] 11
110 12 [-2^11+1,2^11-1] 15
1110 64 [-2^63+1,2^63-1] 68
1111 0 null 4

value0 value1 value2 …
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[128,128, 128,…,128] 60  

3Byte

[60,128]



2
[280,253,274]

[3,280,-27,21]

7Byte



1 491k 17.4k

1w 195.3125T 7T( 5T)

influxdb each point down to around 2.2 bytes per point
dds-inspector 17.4k / 711 / 60 ≈ 0.4byte



1. send  

2. /  

2. 1



1. GC  

2. batch insert upsert 

2. Mgo bson setterStyles  

3. DB + Memory API




